HX B O R OE (k2246 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elckal
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 812|  936| 921| 1,857 4 1 4 40 A H 260  344|  345| 689

2| A (fE) 970 1,193 1,216| 2,409 44 IR 3 3 5 8

4 i e 475| 497|524 1,021 45 JH/ | 114 106 90 196

5 Jbs e <F 330 449 440 889| 37| 37 37 48 k= 405 454 524 978

6 AH 225|  374| 333|707 49 RN 310]  344| 386| 730

8| Al (fF) 341 378 396 774 50 LD HL 367 396 461 857

10 P 208|  206| 217| 423 52 [iE)7238 433 517 522 1,039

11 B 53] NERE 445 434  536| 970

14 _E 6 12 7 19 55 oo B 351 387| 428| 815

15| BAEHISE 1,205 1,523| 1,624| 3,147 56 R 263 273 328 601

16| FHERISE 932 1,309| 1,362 2,671 57 B i 169 199| 207 406

17 W2 381 390  457| 847 58 —H 196 192] 223|415

18 &7 R 310] 411 420 831 59 N 194| 219 246| 465

19 SR A 17 19 23 42 60| TG A 17T B 220 234 239 473

20 A B 1,215| 1,481 1,413 2,894 118| 118 118 61| mE1TH 117 126 150| 276

22 FyhF 811 963 1,067| 2,030 62| wmHE2TH 146 179] 204 383

23 A 279 346 357 703 63| mHE3TH 193 213 235 448

24 HHN 893| 1,046 1,138 2,184 64| mE4TH 72 90 88 178

25 VALl 65 /INRHHT 411 499 517| 1,016

27 oKW IA 258 276 335 611 66| HrnH 179 215 224 439

29|  FEAGE 18 18 18 67 i) 108 141 155| 296

31 L 96 122 104 226 68| TG 27T B 228 270 296 566

33 pN:In 328 401 427 828 69 JtEE 143 184 211 395

38 FoYAN 154 186 169| 355

9| AN E 144 198 216| 414 7t 15,735 18,753| 19,786/ 38,539 159| 156 159




HX BN O R O (k22456 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1X 4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 487  496| 506 1,002| 17| 17 17 [391| #AFITH 448|  484| 474 958
312| %2 TH 177] 217 214|431 392| 2T H 104| 110 114 224
321 ME1ITH 396  392| 405|797 393 W31 H
329| fE2TH 656 664 700| 1,364 411 KRE1TH 375 420 426| 846
323| ME3TH 429 463 465 928 412| KM2TH 365 430 464 894
331 BAH1TH 556  527|  515| 1,042 29| 29 291 | 413 AMSTH 278 275 292 567
332 BAHZ2TH 425 455| 466 921 414 A4 TH 418 432| 440 872
333| BAM3TH 395  376| 409 785 431 WE/HTTT H 378  428| 478 906
334| BAH4TH 632|  663| 782| 1,445 439| WE/HT2T H 816  923| 1,023 1,946
341| K1 TH 800  805| 805 1,610| 75| 75 750 | 440 kS 631|  744| 785 1,529
342| RMH2T H 294 359 353 712 2 2 2| | 451 EFW1TH 439 523 564| 1,087
343| R#3TH 389 466 478 944 452| EFIR2TH 2701  269| 313 582
344| R4 TH 297 308 365 673 461 —XCE1TH 774 950 997| 1,947
345 RA5TH 394  403| 480 883 462| —3XH&E2 T H 637|  745| 768| 1,513
351 KM1TH 947  933| 1,027 1,960 4711 AHITH 44 54 65| 119
350 EM2TH 934| 856  986| 1,842 472 AH2TH 204|  256| 283 539
353 K3 T H 689  717|  780| 1,497 10| 9 1| 10| |473] A HE3TH 177 233 223|456
361| HMHE1ITH 307| 304|250 554| 99| 85| 14| 99| |474| S H4TH 310 456 479 935
362| HAHEZ2TH 384 450 472 922 475 AH5TH 268| 333 361 694
370 o5 7 < 575| 663|632 1,295 22| 22 1l 23
381] AH1TH 195 288 255 543
382| AH2TH 673  972|  933| 1,905 = 18,265| 20,215| 21,167| 41,382| 254| 239| 16| 255
383 AH3TH 298| 373|340 713 N 34,000( 38,968| 40,953| 79,921| 413| 395 19| 414




